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RENAULT
• démarreurP(A)=0.5,
•  batterie  P(B)=0.4 
• les bougies P(C)=0.1 

• 10%démarreurRENAULT
• 20%batterieRENAULT
• 5% les bougies RENAULT
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A: 45 %B : 8 % AB : 3 % O : 44 % 
RH(Système rhésus):RH -15 %RH + 85 % 

RH
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A1B2B
P(B1) =   
P(B2) =  
P(A/B1) =   
P(A/B2) =  
P(A) = P(A/B1) P(B1) + P(A/B2) P(B2) = (0.3). (0.5) +( 0.9). (0.5) = 0.6 

𝐏(𝑩 ) =
𝐏( 𝑩 )𝐏(𝑩 )

𝐏(𝐀)
= =  

A1RR23R
P(A) = P(A/R1) P(R1) + P(A/R2) P(R2) + P(A/R3) P(R3) 
= 0, 05 × 0, 2 + 0, 15 × 0, 5 + 0, 3 × 0, 3 
= 0, 175. 

A)/1P(R 

𝑷(𝑹𝟏/𝑨) =
𝑷(𝑨/𝑹𝟏)𝑷(𝑹𝟏)

𝑷(𝑨)
 

Ā

P (Ā) = 1−P (A)= 1- 0.175 = 0.825 
P (Ā /R1) = 1- P (A/R1) = 1- 0.05 = 0.95. 

𝑷(𝑹𝟏/𝑨) =
𝟎. 𝟗𝟓 ∗ 𝟎. 𝟐

𝟏 − 𝑷(𝑨)
= 𝟎. 𝟐𝟑 

• XRENAULTA démarreurB batterie 
Cles bougies  
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P(X) = P(X/A) P(A) + P(X/B) P(B) + P(X/C) P(C) 
P(X) = 0.5 * 0.1 + 0.4 * 0.2 + 0.1 * 0.05 = 0.135 

• RENAULT0.37
0.135

0.1*0.5

P(X)

P(X/A)P(A)
P(A/X) ===

• RENAULT0.59
0.135

0.2*0.4

P(X)

P(X/A)P(B)
P(B/X) ===

• RENAULT0.04
0.135

0.05*0.1

P(X)

P(X/C)P(C)
P(C/X) ===

 

A1B2B
P(B1) = 0 4  
P(B2) = 0.6   
P(A/B1) = 0.95  
P(A/B2) = 0.7.  
P(A) = P(A/B1) P(B1) + P(A/B2) P(B2) = (0.95). (0.4) +( 0.7). (0.6) = 0.8 
 

𝑷( 𝟏 ) =
𝑷( 𝑩 )𝑷(𝑩 )

𝑷(𝑨)
=

(𝟎. 𝟗𝟓). (𝟎. 𝟒) 
=  


